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CHAPTER-1
FUNDAMENTALS OF C PROGRAMMING

After completing this chapter you will learn about-
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What is Program & Programming Language
Generation of programming language
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*
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Compiler, interpreter
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0

Steps of program planning
Algorithm & Flowchart
Some examples of Flowchart & Algorithm
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mov eax, ebx Assembler + Linker 010110100101

add eax, Oxff 101010101010

Translator
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HI7-2: | Gl E WA 1 AT 498 sum Gl d W o JIEl SIo=1 P4 |
HI¥-w: TR i < 100 =H, BI=0 8% M0 18, STETT W= ST T

HTS1-2: sum = sum + i =T

I -¢: | Gl NI 1 g a9 A98 “[FETT owg 4T TR

TSN sumn Gl d T A= |

HT¥1-A: (%19 |




<

Y

i=1,sum=0

i=1007?

sum HAcEq
E3)} = ST
sum = sum + i

1 (>

i=i+l




v1S CATSEH n AT LT BTATA (19w fAN g SuTATonfany 8
| STQT

S+RIO+ — — — — - +n YTATE CISTRe AN CHE SO0 any 8 CPIoTo |

qI7y: W
H171-2: n GAlED W A= S|

g171-'0: | GAILSE WA 1 BIEN A98 sum Gelled NI 0 GIdl S5 Sid |
g171-8: AW i < n 2T, OI0A ¢S QT AR, SAATHTT 99 071 LI

HI#1-&: sum = sum + i [T |

41°1-Y: | AL NI 1 (5 S A9¢ “[FaT" 87 410> T2

HT91-4: sum HeIleg W SR

ET9-b (%11




sum = sum + i
(e

i=it+l




515 (YTH Yoo I VYT WIAMZS ITTG LI STAF CATTHeT
AT sETonfamY 8 CFITe | SIAr

SO+ — — — — - +500 YTATA CIITH AN THE SUTATN AT 8 CFIGIo |

g7y ®F |
4191-2; | GATPE W 1 Gl 92 sum HAlPE W o B[l o1 S|
g1°-0: AW i < 100 2, OI20A 87 41T 12, S WS 4T TR/
H191-8: sum = sum + | (=¥

4191-¢: | AP WA 2 Jie P 473 “HI 0 e LT~ L

HT9-Y: sum HelRd T (e |

HT¥1-4: (19 |




s P T L L e e T o Ll RS JRearrpurp P e [}

C2 D

i=1,sum=0

sum = sum + i @
}




Sol > CATT doo g7 WTYT S COIG STLYIT SBTATT CHAITHoT
wSOTECsaaT 8 | ST

175 GF |
41712 | GAIR WA 2 11 93¢ sum Geled I 0 JR S5 314 |
{17-\o: T i < 100 T, O 873 LI T, AL WAL 40 TE |
41%1-8: sum = sum + i o3|

4171-¢: | TP WA 2 I FIF I3 (A A 4T T2

19-: sum GRS WA 7|

g19-4: (*1 5|




CHAPTER-2
DATA TYPES, CONSTANTS & VARIABLES

After completing this What is data types
about-

Constant, variable & string




(GBI BIRHA (Data Type):

57 copam fafem sar=a cob oy S T4 <1 (A0S SETETS (G067 2996 T4 TH.4995 (AT (G5
AT LA WOBYI6 2 F0d UF | (H-conans-a cSEtaae (== By (ObE W ST (GoT Bras
7t e =371 f3few BrErom (ot (arwiats ioF fon a2t wresn e +03| (b 13- 8 (T
ST HTHL [Sels 15 ST91H GIa16 Clifels (o5 Bras! ©g | I4-

1. FITFeF (Character)
2. 26 G (Integer)
3. (16 STT6 (Floating Point)

4. 519+ (Double)




CE BT B A=< (==

o CHIFETIETE CHTEENE W09 GG 6T BIEef (ET=ET =ara T 0G5 BIECST =i-88nG fFUrs =091 (F39=- int, float,
char, dnuble?‘@[ﬁl

- SIEHE O THTH ColEcEEs1-4a9 W [F790s =091 (I9=- int sum

« HECSCH (AT ﬁ’\TCE’—fﬁ'I CEHEI=- int sum;

- AFE BIETSE T8 CoSaraas (ST G561 G129 RI-8UT5d 919 J52 =0+ =9 (A
(SIRTATTST =0 SR S0 F0d FE09 0 (A= 190s =091 (T9=- int n1, N2, sum S|

CEOT BIE" TAHS N WG T

Character char char a; char a.b.c:
Integer int int number; int numberl . number2
Float float float x: float a.b.c;

Double double double x; double x,y,z;




oo 3= CSBT BIE~1 JHI2G7 a9=9s CSigcaaScaTs 383

char 1 byte -128 to 127 =1, 27 to 27!
signed char 1 byte -128 to 127 =], 27 to 27!
unsigned char 1 byte 0O to 255 =_]1, O to (281

int 2/4 byte -32768 to 32767 =T, -2'° to 2'51
signed int 2 byte -32768 to 32767 =T, -2'S to 215!
unsigned int 2 byte O to 65535 =1, Oto (2'°hH
short int 2 byte 32768 to 32767

enum 2 byte -32768 to 32767

long int 4 byte 2147483648 to 2147483647 [T, -23!' to 231!
signed long 4 byte -2147483648 to 2147483647
unsigned long 4 byte 0O to 4294967295 =TI, O to (2321
float 4 byte 3.4xE-38 to 3. 4xE+38

double 8 byte 1.7xE-308 to 1. 7xE+308

long double 10 byte 3.4AxE-4932 to 1.1 xE+4932

bool 1 bit True or False




(GBI BIE ¥ (Ire7d f:

(SIATEae (IS TE W05 (G5 P12 WHTE T 919 GHT (56! BIATd SI-841G [40e =41 (99- int, float,
char, double iﬁlﬂﬁl

ST (o1 HUH (Siagae- 44 =T f7740S =9 (T9- int sum

AT (AR M0® 24| (39- int sum:

A% BIETE ST (SETTae (99T (G0 5139 F-20Ea 99 455 i F (A
(SATEITTIElF SR F0a 0 T (RS w40 =41 (F99- int n1, n2, sum ey |




Character char char a: char a.b,c;
ﬂ —

Integer int int number;  int numberl pumber?

-4

Float | float float x; float a,b,c;
Double double doublex;  double x,y,z;




Constants (FSBIFG): (AN NT=a ST0F B (21anfe S 99+ ($8 NN =g T T {30 =7 71 (T99 10 79
T AT 4T 0,585 TN FUT AHI0 =7 91| (1A 0= 50T (T TE T I [{960S A ONE F00 41 7% 0|

57 (PTantse ©reETd HRed S 016 AT 41 973 | T201-

s 31 const BTG TITE I
» 2| #define {HATE 920 FF

const FIGTTG TITE FH FIF (NI FIANG ZCAT:

» const ConstType ConstMame = ConstValue;

« (43 const float PI=3.1416;

#define fA{LTIT TITA FT $HIF (ITNT FI0T6 ZCAT:

s #define ConstName ConstValue
» #define PI 3.1416

f5B2(strings): &2 (T FOBEA FMIASNI STHIE TF CTF B =0l null FIIRE0) | J2 null FIFTEE B52 97 17
T a1 5hs STTaE TR (SGHTAE (* ) SR 9% A



1534 Strings: % 0T FORTFT FTTFIE TG T Y AW T nul| STRI10) ol BTGRPl 6 P
AT 37 ST ORR (GMT [*) TCa) g 4T

! o e

o char stringl20]= {5, \d'y, \0%
o char string[20] = “demo’

¢ char string []="dema’,




CHAPTER-3
OPERATORSTS & EXPRESSIONS

After completing this What is operator

chapter we will learn Different types of operator
about-




WAL (Operator):

(o3I BT e @ (s 7 o s ) o TeT e 5% 77 70, A9
W67 T 20 (T, +, - *, /, <, > W | 48 o639 E 1 YTFTeT ¥ O T ST

i 10 57 3 50w 71| (15 [Tem e WO he T 0E WA 59 54




SOIEATI BT WA a6

= conams 3o snifes =@ (cas=: carsy, f{ansy, &9, ©151 Seontv) =g 318 G+ (353 Sga 1
WHNIGF TTIT© =, SIHATS SNFACH6S I1 e WoNFed o1 =9 [Fiea ot 3= 95
W AACN G WAMACITIRS O 8 IJIZF Sr|d T 2=

(fefsmi) SIS FEE G | 81/9 9
* (A=) @ TAE G | 746 42
% (&S s fadfa 20%6 2
+ (3= 2) G = T 8+5+2.75 | 15.75
- (IE=fE B | et ==t 9-5 4

cofer : wifaetafBe Wty




A= wrontEea

57 conamtsr W (B WAt 0HT ST ((TIN: (0, (6 I W, IS, TS I U 2S117) (FRCHT &
(I WMFGT TITS X, OF (AT WALAGT o1 =H | TVS A2 WATAGCT JHE 72 WANITST N0e
O BLF TR SToy/ e R wnfeew orw ) [RiRT o 9291 9T A Soma s A iEa

SIfeT 8 I3 OrF Y FIT 20
< Less than (¢=%)
<= Less than or equal (c2I5 27 5791%)
> Greater than (3%)
>= Greater than or equal (% 31 7=/)
—— Equal to (37517+)
|= Not equal to (1)

ofes - s weate




AlGrTTE SAE6d

{57 conaTs ARG W ((FTH-ATGI O, WG SIS, WG 76) ST $9F G (3§
WANALT IIT© T, OIS AGII WATILF I =H | FAGHIe O 8 ATGHI SIS WA <6
RN WNTEBF 43¢ IHF BOT SOMES int BIES | FGSTA WA ( || ) © TG TS (&) - J7
G {16 B WAHS U, [T Toe 76 (1) 99 G 416 WS U0 | JGT AGHIe 76 ()

g6 2GIF SATIGA|
Opl=0p2)il | TT6 WeATATST W0y wiferyren
Op3; OR ST & |

Opl=0p2& | 6 Somares T Afewe
&O0p3: AND SATZTE T |




I Ee T O o e = 1T

s B e | Y = | [ [ O =3 1 A = 13 s o S = [ o 1 I ) R ) D O] D o B O 2 e o [ = VI
== e =3 w0 S WA hg (7:) IS =4 | S gt g II9Egd T =0

True |
Expl =( Test Condition)? Exp?2 : Exp3:
False

ST CGHEIH6 2/29TH Test Condition A5 =(F; 4% NN 5e7 91 W= =+ Exp1 = Exp2 MeifEs =n

TS =09, S A% W= T3S0 =7 %=1 =0 Expl1 = Exp3 FidiEs =1 s==nne =31




W 3 %%C‘Il% WA (Increment and Decrement Operator)

ERE I8 SHTaEB4E (Increment Operator): CETATT TS FANS CSATHICETE = AF6T HIHE
ENlEErD6 SreiCe =9 | CSaraaeTd U0 S9i5® (Increment) 010 T2 0@ S a5l 05 ®WHTaeS
TEmE H U | A ST (M ST S E (A (AT A =S HME (T x=x = 1 X=X+ 2, X =X +
2 =y | BRfmracea == 1 =09 Ii9s Farg W7 5 a9 OO SR raTe W aE e (0 ++ Sr9=Id
=41 =H 1 4 FACTH WM A6d A6 Na SIS (" S B0d 90 AUHRA0F Se-H Stabg 9= == | =19
HIHTET ST8 (General Syntex) =C0: variable ++ 9T ++ variable;

2reSiBG L Postiix S5 &9 (GelEibla Prefix SRl=sC-6 911 == | HTETETS while, for BSTW sf*1s-<9

CERL .4 Sl Bl lN5 TaES =0 YT | SIS=1T Postfix @ Prefix-£5 S0 S=TH ST ==l Sy

FAI (TN, i =4 AL j=i++; A PR | ST N =T 5, g j aa T =9 4. WEF I i = 4 G993 j = ==i T
=0 S+ | & | BorHd W =09 5 =Hle, Prefix 29T I @ variable-<F FITH 1 CHIST LA, SIHSH
AL 9T HTEd CSacaae Gial SWITH S =08 | SI9EHi= Postiix S{9TT 979 HCEF variable-<=5 ==
EITHIEA FLE, SIESTd SAarsd 9= 1 s ST




WHfle, j++ 47 T AT | J7 T 1 TO0E, (FF SR THI6E (Fae Mid| (T0=-

#Finclude<stdia . . sxfars® Wb I

int maind)
{
int j:
inti=l;
J=14++;
printf{"i=%d\n j=%d",i,j):
return O;
}

QUTH, j = i++; COTET STACT | @F F= 1 @ATS 2

T 8 T v+ WOE WE0 (1) FES AR

SI® j 97 W ZoE 1 cwmafe oot e @

HIHAT FAATFA CTATS AATAT |
Output :

i=2

ij=l1

++i GOF W ZCAT § 97 W 1 ATSCE QI AMSTE 219 TS+ I WH 202 3 NHBE cras fbra | @asw=—

o -

#include<stdi o \ .. sfaprs wonmsmz w2z

int main()
‘ - -
int j;
inti=1;
J = ++i;
printf("i=%d\n j=%d".1,)):
return 0;

I

U, j = 4++i T ST § 9T WA | &AW 2
TR AR AP #1F g T = ZRT T q=0%
cFae BT | =12 j 97 W9 =09 2 | Fosa et
ot 279 AT WINAT TATFS GIATS #AT
Output :
i=2
i=2

-




fofata5 =I-NMta 6= (Decrement Operator): EHEElH 5 SHIGITT (F9A0S =5 =13 (GlaelT5
WHITEEE | Srefle, (SErgaTa U0 =1 (Decrement) TaGT8 G-l 2 UoT® GIeprH6 SIHTa6a T99S =CH
oIt | A8 ZTTHFTT 1 (T ST =0 (F (T W= =08 ST (T x = x-1; X = x-2: X = x-3 TSR |
fEfarat-og 9= 1 =0d =/ 14919 G0 1 49 o [Giara6 Woaey Ir9=1a =491 =9, =18 SE=E9T
ST&H (Syntax) =C:

variable — B2 —variable

oreriGre postiix [Biara6 a9z SeEGrT prefix fGiETr==6 I=11 =51 F=TETS for, while Ff¥1:-99 FLa 4

il ]

Hal=ld Folapl = S 99s =0H L=

Variable ++ 8 ++ variable 99 STHT <137

S, €T Postfix 9591 23 | d. €T Prefix 9917 T |
. Postfix @[T AT 1€ variable 93 AT WPIET | 2. Prefix ZUTH Operand 99 AT 1 @M =,
TR, S SoACaTEs Wi 1 AfFs wea SIEoa FETHEE QN At®  cSfarmas &=l
AR 9 |
O, SHIZAT: i =4 G j =i ++; Q@ CFCH | GF N | O, TAZAT: i = 4 G j = ++i; 9 CFCH i 99T j
z7a 5 B j 97 T 232 4 TSER AN A S




CHAPTER-4
INPUT AND OUTPUT OPERATIONS

After completing this chapter we will learn about-

What is format specifier
Input output operations
What is Backslash character




SacNe s

scanf() IT printf() FIs*T ST (HICAT (S 6T F1 CSIFTHITETT W ol I AF=Tw7 GiA] (N0 g =a0ned
TS FICTRT III=TF I =, (TSTECF FACAE CNIT=wTaa I =01 (T89S %d FIACA6 s raaie
integer BIECST (GBI 2906 I RO GG T & III=© =91 [Area (GiEw FfSw v3t=3 =336

N STeTECaE s TIISIF Ora Y 9 ==

e single character 786 AT T+ VIZS ZH | scantf( "%c" . &name); printf(" %< ,name):
%d intcger BIZCA (S0 2476 <1 HCG46 Fa1a &) | scanf( “Gd” .&name): printf(*%d”,name);
F1d long integer B13C7E CEGT 2420 AT WISHG TATT S | scanf( “G%1d"” . &name); printf("%1d” ,name):
Gt floating point BI3C> CE5T S0 AT WISG=T =12 =7 | scanf( “%f" &name); printf("% ", name);
GIf double BTZCA CE0T 2790 A1 RGO %0 SATH &7 | scanf( "GIf" &name); printf("%H”, name):
9%u unsigned integer BI2CHE (B61 294796 4] WISG%56 SAH &+0 | scant{ “%u” ,&namc); printf(“%u”,namc);
9%:1ua long unsigned integer CE6T 2590 =l m a9 THT | scanf( "%lu" ,&name); printf(“%u” name);
%o octal GIZCHT CE0T E=90 a1 WISGZ06 =T &l | scanf( "Go” .&name); printf("%o” ,name);
Gx hexadecimal integer C8BT (a.b,.f) 376,/ NISCAG 45241 S0 | scanf( "66x" &name); printf("%x" name);
YoX hexadecimal integer (A.B,.F) (G561 B945/S85<0 ¥4 &= | | scanf( “%X" . &name); printf("%X",name);
Ses string BIZCAE (661 2920 41 WISG#lb F4/4 &) 99 =4 | scanf{ “%s" . &name); prind(“%s" name);
float BI2% A %f FATFGTEE G =I= E90/SIE50 | scanf( "®c/RE" .&namc); printfi-%c”,name):
float ST2° FTN %f NAAT G CALO*TT AU [ATSOZ6 4T | | scanf( "%g/®G" .&name): prntfi“&c” .name):
e 512« 9 39406 =1 WIS646 Sard & | scanf( "% ["a|" .&name); prinef{"Gc”,name):
short integer D127 N1 2990 1 KIS0 FATT =47 | scanf( "S6hd” .&name); printf(*%c” name);




o7 comantart STaTy 2790 43¢ WOBYE TR

(P (PIANTN (G5T AT G SR T ALY (01 27715 T 21 (13NN (O51 2R°(5 (ROTR Gy 70 TP 295
TN I | R A G 7701 02 SOH-IH A Ty T FIHAS SG6°10 PISA 07| BT (21 ag Sra
37D (RO 7S G670 (FUIATI G (Ifom AraLgal PIsoH R FISTTYRS

Console Input/Output functions

Formatted Input/Output function Unformatted Input/Output function
Type Input Output Tvpe ; Input ' Output
getch()
char scanf() | printf() char getche() putch( )
getchar() putchaz()

int scanf() | printf()

int - -

float scanf() | printf() e— - : )

string | scan() | print£() string: | meal] | uueal)




FATTB CRTRraTas 57 (AT (FH 5alF FACNDSG SIFIF (90T A= I FACADS HASIE (FH Galdd N+ 2 =d
G JATE0H 2770 8 TOH70 FIA (T 5Tl SMALE (516 T970 2T SIHIE FALN0 HI5rag 7601 =91 ATt Farat

CHISTRTEE M0 E FMEEE%) M &F =3

SR (GO1 BT T FATACBG 277YB & WOBB T IITS FATNE ATHITFTYZ

TAWD GO [ITF
%c char BIRT°1F (G061 29-15/SMG0 L6 GiJ
%d int GIRU™1F (G0l 295/ SMO6 LG Gl
%f float BIEC™E (GBI 2H°{B/=MEEL6F Gy
06lf double BI2I™1F (GBI 24~{B/SNE6" (54 G
%Id long int BRI (GO 2X-{G/ANGH 5 G

unsigned int BIZI?1F (GGI EN{B/ANGHL6T G
Octal (GGI RF*G/SMEE LG Gl

Hexadecimal (GBI 25 ™B/SNE5 1 5F GHJ

TATEAT
scanf(“%c”,&a); printf(*%c",a);
scanf(“%d",&a); printf(“%d",a);
scanf("%f",&a); printf("%f",a);
scanf("%lf",&a); printf(“%If",a);
scanf(“%ld",&a); printf("%ld",a);
scanf("%u",&a); printf("%u”,a);
scanf(“%o0",&a); printf("%o",a);

scanf("%x",&a); printf(“%x",a);



scanf() PI¥TING 414RI4:
O[T (VTS 31D AT (GBT $H9JB (RTTA TV scani() A TTA3 SATGs

scanf(“format_specifier *, &ariable_name);

VEIERRE

o 3 BT char BIAT°FR (01 2475 (TR TAT scanf() T8 scanf("%c’, &),
3 B int DAL (OB 3475 (MR Gl scanfl) FI¥e scanf(“%d", &al;

v 3 BT float BIAC (G01 Z9°(0 (FOFF & scanf{) FI8e scanf(%P", &al;

o 3 BT double BT (G0T 29715 (FETR Gl scanf() FI9We scanf(Slf", &a);




printf() RI*TTNF IIIRN4:

printf() TI*H A2@d 19214 S I | AT, (T [FF 292 WIG6-L0 (ATl [FoTe, (&1 4F 1 JSMEF GalPdd
WA SNEELE (AT |

@ fFg 335 WOBYLE (RUIATE G printf() T FACNB:

GGG (AT TG (GHI0 printf(” *); TSN G (FIG*TF 4T 77409 2T (T94-
printf(" Output text should be here *);

(T JTB FALTT WA SGBYLE CHATIRTA G printf() ST SACN G
printf(“format_specifier”, variable_name);

[CLIEERE

+ a Belled char BIRI™E m‘iﬁlﬁﬁ“ﬂﬁ (IS printf() FIS*=E printf(“%c”, a);
a BTl int BIECPE (GO SIEG G (WS printf() FI*™s printf(*%d”, a);

a Belled float BIRT™TA (GO WIOGLE (AT printf() FI5*=e printf(“%f", a);
a Bellerd double BIELE ﬁﬁ‘ﬁfﬁlﬁﬁﬂ_}ﬁ (AT printf() FI8*<E printf(“%lf", a);




[CLETRH

a Bell®d char BIR0 (B0 SMGELE (AT printf() FIS*42 printf("%c", a);

a Belld int BIECTE (O SG6LE (LTI printf() FIS¥1=s printf(“%d", a);

a Bell@d float BIRIPE (GBI SNGGALE (RUTATS printf() FR*We printf(*%f", a);

a Belt®A double BIRT™1F (GBI SIGGHLE (AR printf() FI$*=e printf("%lf", a);

SFTET G T JFIL TAGOYLE CRATTAIR G printf() ST FATNO
printf{“format_specifier1, format_specifier2....", variable_name1, variable_name2...);
T GG HeAlA 2R 43T (GBI SGE L6 (WA printf() SIS I32043

¢ a,b & c Be@E (GBI SNEEE int BIRUE (RLIATE GA] printf() STE6He
o printf(“%d %d %d", a, b, ¢);

SR AR Gl e Fwa R0 (GBT SING6710 CRATATR printf() SIS I9203¢

¢ a,b 8 ¢ HAITPS (WO SOHALE IALN int, float & double BIETA (RATAT printf{() TIS*TI 19243
» printf(“%d %f %I, a, b, c);



FTHHITT FITAGIRs [T [ IR SR (FBTAT printf() TSRS NN TP 2« 41 T4 A1 J2 [
FMIAR DA AN G Wiolde JF0 SMISE(\ ) TID0 22 IE AIEHT FINILE 0|

TSI FICIHICAL NI+
TSI FIARR /AT CLIETL | LU

\n EIGEB TG A8 2 printf(“Learning\n ICT"); Learning ICT
Gi=T

\t ‘Eﬂfb"ﬁ‘ﬁfﬁ horizontal tab printf(“Learning\t ICT"); Learning ICT
LD CERETY

W ﬂ]’tﬁ‘@i{fﬁ vertical tab printf(“Learning\v ICT"); Learning
AT T ICT

\a ot He(F® ARG G printf("\aLearning ICT"); Alerm!

v OG0 G (FIO*E( ") printf(“Learning \"ICT\" “); Learning “ICT"
AT T

SIGEG SUFe (<R[ ‘) printf(“Learning VICT\' *); Learning ‘ICT’
L (CERCT

ENEHLE IMFATH PR (\ | printf(“Learning WICT\"); | Learning \ICT\
) SIS G



AT FITT FIMCIARICAL ITIZTD0

AMSFITT FICIRIE T[IZEF TArEaT LICI0 (]
\n EEE[E Tg ALl 2 printf(“Learning\n ICT"); Learning ICT
G
\t GGG horizontal tab printf("Learning\t ICT"); Learning  ICT
2 G
\Ww SIEGLE vertical tab printf("Learning\wv ICT"); Learning
2(=E G ICT
\a STOF APPSO ARNT Gy printf("\aLearning ICT"); Alerm!
" SIEG LG GIKe (FIE*H( ") printf(“Learning \ICT\" “); Learning “ICT"
LR CERCT
v EIEEE s (FIE==( ") printf("Learning VICT\' *); Learning ‘ICT"
2 G

\\ HEGLE AMPHT™ FINTRE (\ | printf(“Learning WCTW *); Learning \ICT\

printf(" Are you learning Are you learning ICT?
ICT\?*);



o e e ' -
t - et - -

BAGPErE BT &

"SRR R -




